Sidgram pur Bighs Tozto Sidrembys

Schedule XLV-Form No. 134

Executive Engineer R.W.D (W), Division Arwal SUB-DIVISION

DIVISION

Gnih

EASUREMENT BOOK

Schedule PLV-Form No. Reculive Engineer NOTES Para 39 & A.W.D (W), Division REFERENCE TO P. W. A.

1.In recording detailed measurements the lotter general instructions should be careful

- (a) Subject to such subsidiary orders as may laid down by the local Government detailed measurements should be recorded only by Executive or Assistant Engineers or by Executive subordinates in-charges of work to whom measurement books have been supplied by the Executive Engineer for the purpose.
- (b)All measurements should be bear taken down in a measurement book Form 23, issued for the purpose, no where else.
- (c) Each set of measurement should commende with entries tarting-
- (i) In the case of bills for work done:-
 - (a) Full name of wok as given in estimate
 - (b) Situation of work
 - (c) Name of contractor.
 - (d) Number and date of his agreement and
 - (e) Date of measurement
 - (i) :Stock", (ii) "Purchase" for direct issue to (here enter full name of work as given in estimate)
- (ii) "Purchase" for (here enter full name of work as given in estimate) issued to contractor on and
- (d) Date of measurements and should end with the Paid initials of the officer marking the measurement, e also paragraph 24. As

measurement for work done, the total quantities of each distinct item of work relating to each sanctioned subhead.

- (d) As all payments for work supplies are based on the quantities recorded in the measurement books it is incombent upon the person taking the measurement to record the quantities clearly and accurately. If the measurements are taken in connection with a running contract account on which work has been previously measured he is further responsible (1) that reference to the last set of measurements is recorded and (2) that if the entire job or contract has been completed the fact is recorded prominently just above his initials.
- (e) Entries should be record continuously in the measurement book No blank pages may be left and no page be turn out. Any page left in adveitenly must be cancelled by diagonal lines. The cancellation being attested. See also paragraph or the Public Work Department Code.
- (f) No entry may be erased, of a mistake is made it should be correct (and dated) by the responsible officer in the manner prescribed in paragraph 335 of the Public Works Department Code. When any measurements are cancelled, the cancellation, must be supported by the dated initials of the officver ordering the cancellation or by refrence to his orders initialled by the officer who made the measurements in either case the reason for cancellation should be provided with an index which should be kept upto date.

1St on AIC Bill

1

Name of Work– Situation of Work– Agency by which work is executed– Date of Measurement– No. and date of agreement

(These four lines should be repeated at the commencement of the measurement relating to each work)

Particulars	Detail	s of actua	al measu		Contents of area
r ai ticulai s	No.	L,	B.	D.	Of area
Name	of m	ork:	-5	dho	umpwz
Bigt	9	02 to	sid	Mage	buz
Dr	nasy	R	sod.		44
Agrono.	- 3	7/28	DIN	HOLLA	2020 -
Agency s	MIS	Jai	Mat	DiE	ntenton.
O	Mt			o-K	chh9se
1	. 4	(AD)		2	
Oate of		17.		03-2	
Date of C	mp ble	tion?	11-0	13-20	24
/		xin			
, be	nch	ত্যেপ	D-0	4-de	E
	0+	1= 1	00 N	9	
7 43	37	()	pΧį	17.	175
2) clea	કાં ૧૭	20	ub	4,50	
0		lan	PERSONAL PROPERTY.	The property of the second	
1	KIZ	×3.	ro =	542	10102
្រក្សាជំ	n He	ساناه	542	_	0.054
1 1 8 5	.10	م ا ٠٠ م = م	sey c		Hack
3) EIN	_	patio			n.de-
2 x 4.1	25.6	40 x	100		
IX S	8 XI	07X	0.250	F-10	\$5
PERMITTE	315	1-104	ap opp	=18.6	3 103

Sch. XLV-Form No. 134

		Details	of actua	al measu		Contents of area
Parti	culars	No.	L.	В.	D.	712
4)	PIV	- fis	3+ cl	م دين	eddi	0
77	A re-	de-	200	1 30	S - E 3	34 Gal
	1 ×S	78	× 1.0	7 XO	.552	3.40 m
		'on An		12.0	(-)1.	270 m
		n i shi	4.	<i>-</i> /	2.13	0 m3
5>	Ply	PC	c MI	Z 11	four	dn
7	10	do	177 E	cr. ?		
2	_x8	-88	K L+4	o x 0	12, 51	.62 m
1	4	- D+	1.	10 4	47=	
3	He	ed 1	rall	in	n'c	<
1/		sena	64 T	D CIM	(114	
1		- de	-de			
			Ç= .	3	Toy by	-1 terrau
2	×3	85 X	0.82	5 X 2	005	12.74
		3.85		140	40 =	
Dedu	cetto	0.4	s x	0.61	(-p) ·	70 m
pui	20.11,	0.4	N/A	1 1000 10 1000	1314	02 10
>	PIN	e lay	Hing		NP3	
	11	ഞ	7	pen	ds -	San Ca
17	2×	2.50	27	-70 L	ก	F-1/4 - D
		0.11	2 5	3.77	ルュー	
5)	DI aL	steri	na u	ofth	CIM	(1:4)
	The bar	0	1 1 1	. i.i.v	7 77 1	earthur d
- 4	- X	3,85	×10	-0 ©	15.40	m ²
2 (198)	4 X	The Park His	X 0.	1 P	0 80	m²
	2×	3.82	× 0.	40 =	3.0	8 m 2
	21	3.85	- xo	60=	4.62	w _e
	The second second					

50 2-140 — — — 50 106-60 1-80 1-95 50 97-50 15.5 0.00 0.90 55 49-50	Particulars	Details	Contents			
Steel Sunface - 06 - Oty wide item No-8 Page - 2 Oty 2 23.90 m²- 10) Constauction of embarkment- with material obtained force - de - Chainage Area Mean Area Length Oty (1) D 2-140 - 50 2-100 2-12 50 106.00 155 0.00 0.90 55 49.50 155 0.00 0.90 55 49.50 155 0.00 0.90 55 49.50 (1) 1000 m 1 emad 30%. 253.00 x 0.30 2 75.90 m² (1) 1000 m 1 emad 30%. 253.00 x 0.70 2 177.10 m² (1) 100 m 1 emad (10) 253.00 x 0.70 2 177.10 m² (1) 100 m 1 emad (10) 253.00 x 0.70 2 177.10 m² (1) 100 m 1 emad (10) 253.00 x 0.70 2 177.10 m² (1) 100 m 1 emad (10)		No.	L,	B.	D.	of area
(1) 1000 m 1 2 23.90 m² (2) 1000 m 1 2 23.90 m² (1) 1000 m 1 2 23.90 m² (2) 1000 m 1 2 23.90 m² (1) 1000 m 1 2 23.90 m² (2) 1000 m 1 2 2 30.00 m² (2) 1000 m 1 2 2 30.00 m² (1) 1000 m 1 2 2 30.00 m² (1) 1000 m 1 2 2 3.90 m² (1) 1000 m 1 2 3	9) Pa	inti	ng c	00	ncret	
Page - 2 10) Construction of embarkment- 10) Construction of embarkment- 10) Construction of embarkment- 10) Construction of embarkment- 10) Construction of granular 11) Construction of granular 11) Construction of granular 12 Sub base by providing do -	184	H	SWI	ace-	de -	ID T
10) Construction of groundary (10) Construction of groundary (10) Construction of groundary (11) Construction of groundary (12) Construction of groundary (13) Construction of groundary (14) Construction of groundary (15) Construction of groundary (16) Construction of groundary (17) Construction of groundary (18) Construction of groundary (19) Construction of groundary	Q+	20 K	Le it	emr	0-8	
(i) 1000 m 1 each 30%. 253.00 x 0.70: 177.10 m2. 11) Construction of granulary Sub base by providing do-	0)	Pa	ge-	2,1		11/
(1) 1000 m 1 2 30%. 253.00 x 0.70 = 177.10 m2. 11) Construction of grammar. Sub-base by providing do-		8+4	2 2	3.90	w ₅ −	
(1) 1000 m 12-and 30%. 253.00 x 0.70 = 177.10 m2. 11) Construction of grammar. Sub-base by providing do-	10) 6	nalogu	tion	ale	mbar	kment-
Chairage Area Mean Arry Length Oty (1) 50 2.100 2.11 2 50 106.00 150 1.80 1.95 50 97.50 155 0.00 0.90 55 49.50 That the the the tength of granular sub-base by providing do-	600	100 49	V. Ja		laine	d
50 2.100 2.12 50 106.00 150 1.80 1.95 50 97.50 155 0.00 0.90 55 49.50 151 100 m lessed 30%. 253.00 x 0.30 = 75.90 m ² 253.00 x 0.70 = 177.10 m ² 1) Construction of granular. Sub-base by providing do-	fo	معمر	de.	•	74	
50 2.190 2.12 50 106.00 150 1.80 1.95 50 97.50 155 0.00 0.00 55 49.50 Tital Ptyz 253.00 253.00 x 0.30 = 75.90 m ² (1) 100 m 100 (10 x) 253.00 x 0.70 = 177.10 m ² 11) Construction of granular Sub-base by providing do-	hainage	Area	Me	my Arrey	(m)	Oty (m3
155 0.00 0.90 55 49.50 THAT THE THE 253.00 (1) 1000 m 1 seed 30% 253.00 x 0.30 = 75.90 m 253.00 x 0.70 = 177.10 m 253.00 x 0.70 = 177.10 m 1) Construction of granular Sub base by providing do-	F 4500 1 1-77	2=140			_	
15.5 0.00 0.00 55 49.50 Total Ptyz 253.00 (1) 100 m 1000 m 25 49.50 (253.00 x 0.30 = 75.90 m (3) 100 m 1000 m 1000 (70 x) 253.00 x 0.70 = 177.10 m 250 base by providing do-	50	2.100	2.1	2	100	106.00
(1) 1000 m 1 seed 30%. 253.00 x 0.30 = 75.90 m/2 253.00 x 0.70 = 177.10 m/2. 253.00 x 0.70 = 177.10 m/2.	16-0	1.80	1:9	S	50	97.50
(1) 1000 m 1 seed 30%. 253.00 x 0.30 = 75.90 m/2 253.00 x 0.70 = 177.10 m/2. 253.00 x 0.70 = 177.10 m/2.			į –	Vi I		
(1) 1000 m 1 sand 30%. 253.00 x 0.30 = 75.90 m² 253.00 x 0.70 = 177.10 m² 1) Construction of granular. 1) Construction of granular.	155	0.00	0.0	0	55	49.50
253.00 x 0.30 = 75.90 m ² (1) Construction of granular (1) Construction of granular (1) Construction of granular (1) Construction of granular		P port		F-144	Ptyz	253.00
253.00 kg. 30= 43.10 mg.	(i) 10	oo n) le	pad	30%	رد رد در د د دنانوا ت
253.00 x 0.70 = 177.10 m2.	2.5	3.00	×0.	302	759	owa
253.00 x 0.70 = 177.10 m2.				4		
Sub-Bose by providing do -	200 24 121 1477146			1 4		0.
Sub-base by providing do-	2.5	3.00	K 0.7	0:12	3 7 9	
sub base by providity do -	V=(-)	(1) I	The second	s s allo sini	#	
300				, ,	Fred a Street	-
2×152 ×01433 ×0104 - 14.42		1		100	4-74 7	
1001 00	MERCHANIST WALL	NEXT THE DEC. OF	10.1	1	_	
6 x 1.80 x 0.60 x 0.200 = 1.246 m2	THE RESERVE OF THE PARTY OF THE	Self- All and I	Section 1	60 X	0.760	1.248 mg
3 × 3.00 × 1.20 × 0.100 = 1.370 m	1.4	12.40	X 1 9	~ ~		

Total 18.624 ms

3 x 3.00 x 1.70 x 0.100 = 1.37.0 mg Sch. XLV-Form No. 134 X 11 100 5 115 105 103

Particulars	Details	of actua	l measu	rement	Contents
Paruculars	No.	L.	B.	D.	of area
2) plv	بعق الع	Prq	Separ	dig	03/4.73
300	8 M	7 20	p.	Alpri	- c/o →
D 48	153	x 3.	HOX	0.633	= 43.590
Add	(24.1	Arr	سمر	e (+)	0.87m2
5	3.M	X 9.	051	1 DA	4 244546 m
138 10	131.0	Ten	rest	riced	
	ment	4		The second second	
- 5 X	43 - 11	I XV	200	12.	290.00
- LX	40000	3.7	- K	5.160	2 3.00 mg
	d (2x.	1	and	(4)	93.00 m3
155	0.0	0 0	0 0	94	2 m 38
14) P	14 8	Alx i	007	typic	اها
BKM	Mas		_		m:
- 9.3.6	boan	nd -du	-do-	2 4 - V	Parisite I
500	4	47=	Noo.	٠.7	
F 010	ario4	7	6 1717	434	
12> 8	Pood	and ale	١٠٥٩	WH.	
- post	op bl	ied.	then	(delais	afte
To have	- باق		et this	9-1	
	11	1 0 11	\$ 53	l.vo	80 2 -
				A Paris of the Par	
14) Const	30	gubg.	ade	-de-	do
14) Const	t oo x	1,33	ade 3-X0	.1603 -790-	39-20 m3
14) Const	30	1,33	× 0.	1603 - Gp-	39.20 m ³ 21.40 m ³ 31.50 m ³

Sch. XLV-	Form N	5 Io. 134	Y 1 1 2	V. 1	1. 1 ung
Particulars	Detail No.	s of actu	al measu B.	rement D.	Contents of area
	iyu.	-	lasti.	1172	. De in
ABS.	TRAC	TO	= co	72	J. W. S
11/1/2016	X		e pil	-	<u> </u>
1.001		2.0	VTMC	2.1	P. 148 6 57
@ R 16	1 1 1 1 1 1 1	s/egc	\	-2	1604=00
127 6	549	والمام المراب	127	()	
를 Clea	ming	29	ubbi	200	
	م ره		de-	des	
0.05 H	act	مار سان	VTM	BP-L	
@R 52	970.	83 H	act -	- P	2860 = 00
141 PT	6 St	-121	101	11+1	1
		Marie Control	John St.		
3/3 Ex	caval		08 10	ad we	rk _
18.63	De s	- des	NI	ABP	-1 4
4 67	75	717	3 1466	R	418 = 00
		4			
414 Con	1.01	em	any	- a. 1	
ALL RESIDENCE TO A SECOND SECO		The second second		111111111111111111111111111111111111111	Jai1 7 11
75.90 m	y-4	-10	oe m Vitim	lead.	and when the
LF 64.87	W.Z	5 - 10	96 M	lead.	and when the
THE RESPONDED TO SERVICE U.S.	m3 0.36	- رسا 10 - م	96 M	100 - 150 -	<u>3</u> 1 1 1 1
CF 64.87 CA RC 19	m3 0.36	- 6m - 6m - 6m	oo m VTM	100d 150-	<u>3</u> 1 1 1 1
LF 64·87 画 配 19 8/3- 10 17年10	6 2 0 · 3 0 · 3 0 · 3	ا – اه اهما احما	√-14 √-14 √-14	100 - 100 -	<u>3</u> 1 1 1 1
CF 64.87 A RE 19 8/5- 10	6 2 3 4 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6	m3 - m3 - ea	3 - d	120d - 25 12	3y8 = 00
# 151-36 177-10 177-10 177-10	6 4 6 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	- 10 m ³ - ea ea 28 so	3 - d	120d - 250 - 25 12	398 = 00 3351=00
17710 L+ 151.36	6 4 6 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	- 10 m ³ - ea ea 28 so	3 - d	120d - 250 - 25 12	348 = 00 3351=00

AND THE RESIDENCE OF THE PARTY.

Particulars	No.	TL:	al measu B.	D,	Contents of area
17 Cen	staf	Q'2	Fat	-e-d	and the second second
18.624	ma	1.6	VT	MBP-	-3 413
K 20		/ms -	7		116200
1.	y 63	164	1	1 T	Pope To
B Ply	layer	الم عو	brod	ور د	
Wen	Pa	7	7 1 17 15 15 15	- 64 1.	148 = 0
244.4	1003	, 77	MISP	-4	7
2 Rt 2	678.6	وروما	14111	7.1	9.09120
Da bar		1			
19 Cons.	of u	nrain	forces	deve	413 20
	rete (Street Water and Street St.			
94.86	m		VTM	BP-4	R
		2-40/8	mB -	-e	333412
Q R	362	2-70/0	,	16	2113
Le/vas P	N 8 fi	יףמות	mmc	1sy	Water
	form	94.7			h.h.e
2.00	444	11/11/11	WTM	BP-4	
@ R	_	all the second	och -	RI	349520
7 F F F F F	(B) 3.	4 1	11.41	10 - 319	
	ad mo	merly	بالماحق	ho 7	1.
18 app	100	2.0		the of	0 IT 5 40
31.00	sed of	93100	1 2	The second second	238020
OR		13/10	V. TI	27 21/2	4
12 elw	100 PM	Cavo	ston'	- do -	
18.63	ma		VIMB	P-1	
OF 2	19.09	I Genti	nuation	- R 5	199 200

B. lays	D. bedd P - 2	of area
	-61	149
TMA	P - 3'	
er e	19	3 3 347
	R	1052=00
a /	1714	K C
nfo	udv	
MB	p-2	
91-	R	5874= 00
5	3/19	
6-	٧-	
BP	- 2	11
	-P4	75173 200
		7047 A
_	P3 Pi	e
φ-	OQ -	إحصا
MBI		2472.2
7.7	R	147220
th c	Ma	14)
714	BP	1 3 W
ME	P-2	and the second
7	R	2020:00
77(31)	2.23	5633
_	110	016-4
, ,,,		101
	-5	3/60000
	Ste se MB1	se-do-

To tal 14 898485=00

Sch. XLV-Form No. 134

Particulars		ls of actu		urement	Contents
, 1.29 he along	No.	L.	В.	D.	of area
, A .	12	tel	RP	8,98	,485-0
Add	1 12	C7	\$T(+1)	R 107	81820
Add	(1%	1 L.	cess(+	148	985=0
213	Add	.ي	1=	1616	7/2 = a
5 3	44 S	7	العاه	103	2 000 =
les (10%)	_	_	4	
F DI	Per		-	_	968 = 0
			17.	4	And the second delication of the second
@ K 3		32/2		3	512/20
±-74	رندز	1 - 1	+	34-5	in kin
1 100	- De 1	10/25	مای دیا د		
23 PM	10		C 6		
16		-			
		17.0			
**	· ·	. 14 11	100		124
	Mat	Na	310	ema	_
v	Ø.	0 7	1 7	Vije.	
تحصل كالات	Øn.			47	-
a) Bnick	-	1		1	
2. CT2 . D	4 4	4	and for		(milegral)
(53-26.5)	- Usu		100	May are a	9 -
26.5-4.25		120	73	Ē,,	The said
2-36 mm 8	31	4 2000	Sp. Lean		g Special con-
H WBM	1000	A SECTION			
			1	1,11	
5) stone o	LUST-	\	1		5 1 1100
es sand.	-	·			-
3) Aggreg	ab-	V L	ند دست	erossi i	S. control 5
Tarel were	. 5 - 1	e"		*	The I gove
	100	Continu	-	-	

12/12/201